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Resource: Skill Four

Level 2 Award


OCR Level 2 Award in Thinking and Reasoning Skills J930

This resource is designed to accompany the OCR Level 2 Award in Thinking and Reasoning Skills for teaching from September 2009.

This resource supports the teaching of Skill Four: Evaluating the Credibility of Sources.

Corroboration and Conflicting views
You are required to examine documents and find examples of corroboration, where one witness’s evidence supports that of another. This is usually thought to increase the credibility of evidence, though of course both witnesses might have reasons for telling the same false story.

You will also need to identify examples of conflicting evidence, where claims by different witnesses contradict each other.

Simon Cambers, aged 16

On the day of the accident I was returning to school after having my lunch at home. It was my English GCSE exam that afternoon. I started to cross the road directly opposite the school when a motorcycle suddenly hit me. It must have been coming far too fast because I did not see it coming. The motorcyclist should have been able to avoid me if he’d been driving carefully near the school. After I got up from the road, I was in a lot of pain. The motorcyclist had stopped and so had a woman motorist. She helped to keep me calm while the motorcyclist went across to school to report the accident. An ambulance took me to casualty where they found I had a broken wrist. Obviously I wasn’t able to sit my English exam and my family wants to sue the motorcyclist for dangerous driving.
Motorcyclist, male, aged 40

School Lane is a route I travel every day so I am well aware that there are often students crossing the road and I drive carefully as a result. I was driving along on the day in question and am sure I was under the speed limit of 30mph on that stretch of road. As I neared the school, a boy suddenly walked right into the road straight in front of me without any warning. I couldn’t possibly have stopped or swerved. Of course, the bike hit him even though I slammed on the brakes. I did all I could by sending for help immediately.

Police interview with female motorist, aged 42

Police officer: I’m calling about the traffic accident outside Eastdown School last week. A young man was knocked over. I believe you left your name at the school as a witness.
Motorist: Yes, I was driving behind the motorcyclist so I saw the accident.
Police officer: What exactly happened?
Motorist: The schoolboy stepped into the road without looking. It wasn’t the motorcyclist’s fault at all.

Police officer: How fast do you think the motorcyclist was driving?
Motorist: Not very fast at all.
Police officer: Can you estimate how fast?

Motorist: Well, only about 35mph, I should think.
Police officer: What happened then?
Motorist: I stopped as quickly as possible and went to help the boy. I sat him down and loosened his tie in case he felt faint, though he didn’t seem to be injured. Then a teacher came across from the school so I gave her my name and left.

Police officer: What were the weather conditions like at the time?
Motorist: It was fine weather, I think.

Peter Norman, aged 12

I am in year 7 at Eastdown School. I know Simon slightly because he is a prefect. I was standing outside school waiting for a friend when I saw Simon begin to cross the road. He had his head down and was hurrying because it was drizzling a bit so he didn’t look in both directions. The motorcyclist was coming along quite slowly, so I was shocked that he didn’t hear it, but he was probably listening to his MP3 player. The bike hit him and knocked him over into the road. A woman stopped to help him and I ran into school to tell the teachers.
Task
1. List three examples of claims that are corroborated in the witness statements above, giving the name of each witness. 

2. List three examples of conflicting claims and give the name of each witness.
3. Use the RAVEN credibility criteria to assess the credibility of each of the four witnesses.
4. Based on your answers to the previous three questions, who do you think was most at fault for the accident?
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